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Substitution method worksheet answers

การแกปญหาระบบเชิงเสนทดแทนวิธีการแผนงาน:แผนงานที่ใหในสวนน้ีจะเปนประโยชนมากสําหรับนักเรียนที่ตองการฝกปญหาในการแกปญหาระบบสมการโดยการทดแทน กอนที่จะดูเวิรกชีตถาคุณตองการเรียนรูวิธีการแกระบบสมการโดยการทดแทนโปรดคลิกที่น่ีฝกปญหาวิธีทดแทนการแกปญหาสมการเชิงเสนคําถามที่ 1 :แกระบบ
สมการตอไปน้ีดวยวิธีการทดแทน 5x - 3y - 8 = 0 และ 2x - 3y - 5 = 0 คําถาม 2 :แกระบบสมการตอไปน้ีดวยวิธีการทดแทน x - 3y - 11 = 0 และ 5x + y - 7 = 0Question 3 :แกระบบสมการตอไปน้ีดวยวิธีการทดแทน y = 6x - 11 และ 2x + 3y = 7Question 4 :แกระบบสมการตอไปน้ีดวยวิธีการทดแทน 2x - 3y = -1 และ y = x - 1Question 5 :แก
ระบบสมการตอไปน้ีดวยวิธีการทดแทน y = -3x + 5 และ 5x - 4y = -3Question 6 :แกระบบสมการตอไปน้ีดวยวิธีการทดแทน y = 5x - 7 และ -3x - 2y = -12Question 7 :แกระบบสมการตอไปน้ีโดยวิธีการทดแทน -4x + y = 6 และ -5x - y = 21Question 8 :แกระบบสมการตอไปน้ีโดยวิธีการทดแทน  2x + y = 20 และ 6x - 5y = 12Question 9
:แกระบบสมการตอไปน้ีโดยวิธีการทดแทน y = -2 และ 4x - 3y = 18Question 10 :แกระบบสมการตอไปน้ีดวยวิธีการทดแทน 2x + 3y = 5 และ 3x + 4y = 7 การแกปญหาระบบเชิงเสนทดแทนวิธีการแผนงาน - โซลูชั่นคลิกที่น่ีเพื่อรับวิธีแกไขปญหา 1, 2 และ 3 คลิกที่น่ีเพื่อดูวิธีแกไขปญหา 4, 5 และ 6.คลิกที่น่ีเพื่อดูวิธีแกไขปญหา 7, 8, 9 และ
10 หลังจากผานสิ่งที่ใหไวขางตนเราหวังวานักเรียนจะเขาใจวิธีการแกปญหาสมการโดยการทดแทน นอกเหนือจากสิ่งที่ใหไวในสวนน้ีหากคุณตองการสิ่งอื่น ๆ ในคณิตศาสตรโปรดใชการคนหาที่กําหนดเองของ Google ของเราที่น่ี หากคุณมีขอเสนอแนะใด ๆ เกี่ยวกับเน้ือหาทางคณิตศาสตรของเราโปรดสงอีเมลถึงเรา:
v4formath@gmail.com We always appreciate your feedback.  You can also visit the following web page about things in math, WORDSHCF issues, and LCM word problemsWord in simple equations, problems. Word on linear equations Word problems in square equations, word problems, Word problems on trainsArea,
and perimeter word problems, Word problems about direct changes and inverse changes, Word problems about unit price, Word problems in comparing the rate of change, traditional unit changes, word conversion problems, unit conversion, metric issues. Word problemWord about simple interestWord issues about
compound interest issues about the problem regarding the type of auxiliary corners and auxiliary corners, word problems, facts, problems, words,trigonometry. Word problems, word problems, profit and loss of words. Word and markup word problems, decimal word problems,Word problems, fractionsWord issues on
fractrions, mixed word problems, equations, steps, word problems, inequalityLinear, word problem, Ratio, and proportion, word problems, time and problem, word running problems,Word problems in series and diagrams WayneWord problems with all ages. Pythagorean theorem problem, the problem of the word, the
number of problems, the problem, the word, the fixed speed problem, the word problem about the sum of the corners of the triangle is 180 degreesOTHER TOPICS. And the number of domain shortcuts and a range of functions with reasondomain and a range of functions with realistic functions with realistic function



holes, rational function graphs with duplicate decimal control holes in to fractions, display of rational numbersFinding the table roots using long dividing L.C.M 2 256 divided by 17 remainder when 17 power 23 divided by 16 summer of all three numbers divided by 6 summer of all three ตัวเลขหลักที่หารดวย 7Sum ของ
ตัวเลขสามหลักทัง้หมดหารดวย 8Sum ของตัวเลขสามหลักทัง้หมดที่เกิดขึน้โดยใช 1 3, 4Sum ของตัวเลขสี่หลักทัง้สามที่เกิดขึน้ดวยตัวเลขที่ไมใชศูนยของตัวเลขสี่หลักทัง้สามที่เกิดขึน้โดยใช 0, 1, 2, 3Sum ของทัง้สามตัวเลขหลักที่เกิดขึน้โดยใช 1, 2, 5, 6 ลิขสิทธิ ์onlinemath4all.com SBI! ปญหาที่ 1 : แกสําหรับ x และ y : x - 5y + 17 =
02x + y + 1 = 0Problem 2 : แกสําหรับ x และ y : 5x + 3y - 8 = 02x - 3y + 1 = 0Problem 3 : แกสําหรับ x และ y : 4x - 7y = 7y = 02x - 3y + 1 = 0Problem 3 : แกสําหรับ x และ y : 4x - 7y = 7y = 02x - 3y + 1 = 0Problem 3 : แกสําหรับ x และ y : 4x - 7y = 7y = 02x - 3y + 1 = 0Problem 3 : แก x และ y : 4x - 7y = 7y = 02x - 3y + 1 =
0Problem 3 : แกสําหรับ x และ y : 4x - 7y = 7y = 02x - 3y + 1 = 0Problem 3 : แก x และ y : 4x - 7 08x - y - 26 = 0Problem 4 : แกสําหรับ x และ y : 3x + 5y - 6 = 05x - y - 10 = 0 = 0Problem 5 : แกสําหรับ x และ y : 2x + 3y = 53x + 4y = 7 ปญหาคียคําตอบโดยละเอียด 1 : แกสําหรับ x และ y : x - 5y + 17 = 02x + y + 1 = 0Solution : x -
5y + 17 = 0 -----(1)2x + y + 1 = 0 -----(2)ขัน้ตอนที่ 1 :แก (1) for x - 5y + 17 = 0Subtract 17 from each side x-5y = -17Add 5y each side x = 5y - 17 -----(3)Step 2: Substitute (5y -17) for x (2) (2)-----&gt; 2(5y - 17) + y + 1 = 010y - 34 + y + 1 = 011y - 33 = 0Add 33, each side 11y = 33Divide Each side by 11.y = 3Step 3: 3
substitute for y input (3) (3)-----&gt; x = 5(3) - 17x = 15 - 17x = -2, so the solution is (x, y) = (-2, 3)Problem 2: Solve for X and Y: 5x+3y- 8=02x- 3y+1=0solution: 5x+3y- 8=0----- (1)2x- 3y + 1 = 0 -----(2)1:1:1:edit (1) for 3y. 5x + 3y - 8 = 0Add 8 on each side, 5x + 3y = 8Subtract 5x From each side 3y = 8 - 5x -----(3)Step 2:
Substitution (8 - 5x) for 3y is (2) (2)----- &gt; 2x - (8 - 5x) + 1 = 02x - 8 + 5x + 1 = 07x - 7 = 0 add 7 on each side 7xdd Each By 7.x = 1Step 3: Substitution 1 for x is (3) (3) -----&gt; 3y = 8 - 5(1)3y = 8 - 53y = 3Divide each side by 3.y = 1, so the solution is (x, y) = (1, 1)Problem 3: Solve for X and Y: 4x-7y=08x-y-26=0solution:
4x-7y=0-----(01)8x-y-26=0-----(2)Step 1:Solve(1) For 4x.4x-7y=0add7y on each side of 4x = 7y -----(3)Step 2: 7y replacement for 4x is (2) (2)-----&gt; 8x - y - 26 = 02(4x) - y - y - 26 = 02(7x) y) - y - 26 = 0Simplify.14y-y-26 = 013y - 26 = 0 Add 26 on each side 13y = 26Divide each side by 13.y = 2 Step 3: Substitute 2 for y
access (3) (3)-----&gt; 4x = 7(2)4x = 14Divide each side by 4.x = 3.5, so the solution is (x, y) = (3.5, 2)Problem 4: Solved for x and y: 3x+5y-6=05x-y-y-10=0=0solution: 3x+5y- 6=0-----(1)5x - y - y - 10 = 0 -----(2)Step 11: Solve (2) for y. 5x-y-10 = 0 add 10 on each side 5x-y = 10Subtract 5x From each side -y = 10 -
5xMultiply y = 5x - 10 -----(3)Step 2: Substitution (5x - 10) for y input (1) (2)-----&gt; 3x + 5(5x - 10) - 6 = 03x + 25x - 50 - 6 = 028x - 56 = 0Add 56 on each side, 28x = 56Divide Each side by 28.x = 2Step 3: substitution 2 for x is (3) (3)-----&gt; y = 5(2) - 10y = 10 - 10y = 0 so The solution is (x, y) = (2, 0)Problem 5: Solve for x
and y : 2x + 3y = 53x + 4y = 7Solution: 2x + 3y = 5 -----(1)3x + 4y = 7 -----(2)Step 1: (1) by 3 (1) 3 ----- 6x + 9y = 15Solve for 6x.6x = 15 - 9y -----(3)Step 2: Multiply (2) with 2 (2) ∎ 2 -----&gt; 6x + 8y = 14From (3), substitute (15 - 9y) for 6x ( 15 - 9y) + 8y = 14Simplify.15 - 9y + 8y = 1415 - y = 14Subtract 15 from each side -y =
-1Multiply y = 1Step 3: Substitute 1 for y input (3) (3)-----&gt; 6x = 15 - 9(1)6x = 15 - 96x = 6Divide on each side by 6.x = 1, so the solution is (x, y) = (1, 1) apart from what is provided above, if you need other things in mathematics, please use google custom search here v4formath@gmail.com. We always appreciate your
feedback.  You can also visit the following web page about things in math, WORDSHCF issues, and LCM word problemsWord. In simple equations, Word problems on linear equations, Word problems in square equations, word problems, Word problems on trainsArea, and perimeter word problems, Word problems, direct
changes, and inverse changes, Word problems with unit price issuesWord In the unit rate, word problems in comparison, custom unit conversion rate, word problem, conversion, metric unit, problem. Word ProblemWord about simple interest issues with compound interest issues Of auxiliary corners and angles reinforced
word problems, facts, word problems,trigonometry, word problems, word problems, profit and loss, word problems, markup and markup, decimal word problems, ProblemsWord about fractionsWord issues, fractrions, mixed processes, equations, word problemsLinear. In the word equalityratio and proportioned word
problems, time and problem, word work problemsWord in the series and diagrams Wayne problemsWord about age, word problems, theory of word problems, the problem of words, the number of problems, the problem, the fixed speed problem, the word problem in the sum of the corners of the triangle is 180 degrees
OTHER TOPICS. Shortcuts, gains and loss of schedule shortcuts The speed and distance shortcutRatio and the proportions of the Domain shortcut and the range of functions are reasonably domain and a range of rational functions with rational function holes, rational function graphs with duplicate decimal separator
holes to represent rational figures square roots using the long split method L.C.M To solve the time and work Translating word problem in algebra expression remainder when 2 power 256 is divided by 17 remainder on 17 power 23 is divided by 16Sum of all three digits divided by 6Sum of three digits divided by 7Sum of
all three three digits divided by 8Sum of all three digits formed using 1, 3, 4Sum of all three digits formed by non-zero digits, 3Sum of three digits using 1, 2, 5, 6onlinemathall4.com SBI!
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